236

)Hﬁa“

E%ﬂ_ﬂ

%‘B RS

lLlL

SR247H 28 B (k)




EREE=E

E =N

AT




N

i P

50% | 50%) 10 | 16501

|p—smmaEe et | 80% | 50%) 10w

s0%|30% — [200r

50% [ 40% 10 | 2000

1ocs] sow —

I roci{ a0

>
e | RRMETER? SRR

1ocw

[tz

Eimas

Er

= waE

e

-

Rl

st B R EEEOTE

<=0 amrasK

L6t 5| BT |47 2R | BWE

am |mass 7 s

&=

L) L L, G ASE LS T

ERLEAMTETEERODERE (BREERE)
WER s=1.5, 000
S —

i

s S BEREHE

fem

kSt A L HT

o

&
R ETRFIE & H

B R = SC#R

(BB ETFHIERR)

20.5

A 3.0 1.0

e

. 51.53.2510.75

!
!
!
!
I
i
|

B AR
(1R4780)

SUIEZANTE

t LT EEE —

-

Liz3D

L =6,960m. W=40m. 453
T ﬁ

3804—1




RGP EEROER (BEERRE) ERESTHEES
HEEK S=1.500 A B

BIE iR
(A EEAER)

— T #WEERE

B EFAER [

I SRR
T T

! T

(BIREER)

» “f‘:\ ,/;:15:/;/;\AN&%Z: / \// )/ "'4 <,
) '/:;‘1/\/ \(\i\\\\\sx\\///%/ A // 3
e ) \‘2:5\'\ -~ W % i p

00

\

”/ 0 1
CN X L T




RGP EEROER (BEERRE)
HIEXEK S=1.500

H
Jm
i
s
+
E

W o
© gy
~ E

Jin B Hp

+ EEe

IR — SR
(EHEHRER)

I “&jjg

/ —— #EERE
| I 5 > E s )% ) : * EEiE
20.5 b - _ A 7 e EEICK DIEHE

i

e oy TO0 i e s -
gi%;thl%’ ¢ m?&% A
. H} };‘ ! .

v

w (/’ - ‘\'/r
P F:j ﬂ/y f
h S5
I
pE L e Y |
N 'll[' il?bﬂ L
RSN i
g 1,1}‘:\”‘.\1[;_ AN - 7
! . G i
o - Rl

A EERR
G

W “ o,
R ” = B

l

= V% Flwlw o B

1:500
100 200 300/

LN /X —————————— ‘i | .
XK N \ - - . - —— . \g’ A\ TI
=0\ <3 0 A AEN) ) WL CRNE BT
WAN - N X7 - £va2 T TR \\W k=% Al BTN




[5£38055 %]

[ — XA HETEERDE & |



TXEHEEEBROEE (fEHRIRE)

wrRs

= mumeETEe

- = :
[ -4-18—1 BIRZLR
e L=2,890m. W=20.5m. 4E{R

o

TS oA I02  BEBEEE

|
;
= sImRTR
<0 i
) |#=
St 2
— |mEeRE LAY M
oo o] i | e = 1 5 . *\%—l— — I=trh j-L / :ﬁ
B3 e ke Wik PRSP E P, ﬁl“\ ° i m — -lh % U

50% | 50%

e oo e = ,!FQ -%F.ﬁ: 3ti,-—- 5I$ Elé R
' : (TR Z3EHR)

EHIR)

%%F'EZIE Nz

TERX
L =3,100m

e[z

3°4-18—1

sl

i
EF—HMILELDOTT,

HER

L

CORESHEIZH L1




=X ERT AT E

EIROEE (18R RRE)
FER s=1.1,

00O

FEEHHAEEES

£ B A K @

% 3 8 0 5 &
IR

AR T E X A

HEEERER

B SRR

COREISHEIZB L =5

BRZE—

BMILEHEDTY,

0

1:1000
100 200 300

HIJR = SR
(EHTEHEH)

|
&R
(15178%)

3805—2




XA EEROLERE (BEERE) EEESTHHEE
#IAXEK S=1.1, 000 £ 8 B H
£ 3 8 0 5
N
JLA
—— #HWEtERE
EEIE
o FERICKDIEEE
LEA
1-4-18—1 FiIRE=-{HE L=2890m. W=20.5m. 4EZ
ZEXRE L=2,890m

CRBESLRTA/ W

R S A B
i = | (BR=H. REFW |

&y
\§

. } ~ . T fii ,f: -
g T - | e
N
S 7
ZHEXRE L=3,100m
Wi F-F 3:4-18—1 BREHKE L=10410m. W=17m. 4FE§
BRI (aspmsmEn)
1
S ——
1.5p 0f15 0] 1.5p
| v | 1:1000
L ' 1 0 100 200 300
HEHIR @nwn

3805—3




